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1.  Find out the incorrectly spelled word
A) vulnerable
B) ambitious
C) retraspective
D) jurisdiction

Correct Answer : Option C

2. Find out the incorrectly spelled word
A) detrimental
B) incestous
C) secretariat
D) consanguineous

Correct Answer : Option B

3. Find out the incorrectly spelled word
A) garrulous
B) inundate
C) surreptitious
D) Vvicisitude

Correct Answer : Option D

4. Find out the incorrectly spelled word
A) fragile
B) prestigious
C) mischeivous
D) abrogate

Correct Answer : Option C

5 Find out a word which is nearest to the opposite in meaning to the word given in capitals.
NAUSEOUS

A) upset
B) il
c) well



D) peaky
Correct Answer : Option C

6 Find out a word which is nearest to the opposite in meaning to the word given in capitals.
PIOGNANT

A) inspirational
B) emotional
C) dispassionate
D) eloquent
Correct Answer:-Question Cancelled
7. Find out a word which is nearest to the opposite in meaning to the word given in capitals.

ORDAIN
A) rescind
B) destine
c) fate
D) doom

Correct Answer : Option A

8 Find out a word which is nearest to the opposite in meaning to the word given in capitals.

TRANSIENT
A) Dbrief
B) momentary
c) little
D) lasting

Correct Answer : Option D

9. Find out a word which is nearest in meaning to the word given in capitals. NOUGHT
A) present
B) exist
c) nil
D) available

Correct Answer : Option C

10. Find out a word which is nearest in meaning to the word given in capitals. CORRUGATED
A) pressed
B) wrinkled
c) straightened
D) flattened

Correct Answer : Option B



11. Find out a word which is nearest in meaning to the word given in capitals. CAPRICIOUS
A) inconsistent

B) definite
C) constant
D) Stable

Correct Answer : Option A

12 Convert the given sentence into indirect speech :
* She said, “ | am studying a novel now ”

A) She says that she was studying a novel then.
B) She said that she studied a novel now.

c) She said that she is studying a novel then.
D) She said that she was studying a novel then.

Correct Answer : Option D

13 Convert the given sentence into indirect speech :
* He said, “ | have completed the work ”

A) He said that he has completed the work.
B) He said that he had been completed the work.
C) He said that he had completed the work.
D) He says that he has completed the work.

Correct Answer : Option C

14 Convert the given sentence into Direct Speech :
* He told that his daughter was working as an office manager

A) He said, “ My daughter is working as an office manager”
B) He says, “ My daughter was working as an office manager ”
c) He said, “ My daughter was working as an office manager ”
D) He says, “ My daughter works as an office manager ”

Correct Answer : Option A

15. Convert the given sentence into Direct Speech : Minister told that he would come there
A) Minister says, “ | shall come there ”
B) Minister said, “ he shall come there ”
C) Minister said, “ | come there”
D) Minister said, “ | shall come there ”

Correct Answer : Option D



16 Identify the meaning of the idioms or phrases given in capitals in the sentence:
* Itis getting dark and hard to see the ball. Let us CALL IT A DAY .

A) continue to play
B) come toanend
Cc) ready to play
D) tired

Correct Answer : Option B

17 Identify the meaning of the idioms or phrases given in capitals in the sentence:
* Books like this are A DIME A DOZEN

A) common and of a little value
B) arare collection

C) new arrivals

D) old collection

Correct Answer : Option A

18 Pick out the best filler which can complete the given sentence correctly.
* The investigating Agency has its findings to the Reserve bank of India

A) verified
B) obtained
C) received
D) referred

Correct Answer : Option D

19 Pick out the best filler which can complete the given sentence correctly.

The Central Economic Intelligence Bureau has the COFEPOSA Act against him
A) done
B) applied
Cc) invoked
D) issued

Correct Answer : Option C

Pick out the most effective word from the given words to fill in the blanks to make the
20. sentence meaningfully complete.
United States of America and Iran are currently in rare high-stakes diplomacy

A) expressed
B) engaged
C) introduced
D) explained

Correct Answer : Option B



Pick out the most effective word from the given words to fill in the blanks to make the
21. sentence meaningfully complete.

The Pahalgam carnage was a deliberate attempt to fear among people
A) instill
B) drain

Cc) eliminate
D) Eradicate

Correct Answer : Option A

22 Find the correct preposition.

He saw the swimming pool and wanted to jump the swimming pool
A) on
B) to
Cc) into
D) at

Correct Answer : Option C

23 Find the correct preposition :

My friend saved my life killing the snake without fear
A) on
B) for
c) with
D) by

Correct Answer : Option D

24 Find the correct preposition :

It is very difficult to infer any definite conclusion _ the available data.
A) among
B) with
C) by
D) of

Correct Answer : Option B

25. Change the sentence “ She enjoys reading books ” into an interrogative sentence
A) Is she enjoy reading books?
B) Do she enjoy reading books?
c) Does she enjoys reading books?
D) Does she enjoy reading books?



26.

A)
B)
C)
D)

27.

A)
B)
C)
D)

28.

A)
B)
C)
D)

29.

A)
B)
C)
D)

Correct Answer : Option D

Change the sentence “ They have done the work in a record time ” into an interrogative
sentence.

Do they have done the work in a record time?
Have they done the work in a record time?
Had they done the work in a record time?
Have them done the work in a record time?

Correct Answer : Option B

A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence , choose the option (4).

The diplomatic actions against

Pakistan taken by India’s Cabinet Committee on Security,
is a measured set of responses to the recent terror attack
No error

Correct Answer : Option C

A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence , choose the option (4).

If we want to raised a generation that is healthier and better prepared for the future,
we must start by making ‘ learning to eat well’

a part of child’s education.

No error

Correct Answer : Option A

A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence , choose the option (4).

According to J & K Government figures, the State
have seen an upswing in tourist footfall

over the past many years

No error

Correct Answer : Option B

30.

A)
B)

Rearrange the four parts to form a meaningful and coherent sentence:
P: volunteered to park his

Q: a shop owner

R: warn motorists off the hole

S: advertisement board to

QRSP
QSPR



c) QRPS
D) QPSR

Correct Answer : Option D

Rearrange the four parts to form a meaningful and coherent sentence:
P: depending on
31. Q:basis
R: vehicles are allotted space
S: first-come-first-service

A) RPSQ
B) QSPR
c) SRPQ
D) RPSQ

Correct Answer:-Question Cancelled

Rearrange the four parts to form a meaningful and coherent sentence:
P: stations across the city
32. Q: work on identifying locations for public
R: Electric Vehicle charging
S: the Corporation has started

A) SQPR
B) QSPR
c) SQRP
D) RPSQ

Correct Answer : Option C

33. Find out the correctly spelled word
A) manufacturor
B) condiment
C) annoncement
D) fatutous

Correct Answer : Option B

34. Find out the correctly spelled word
A) manifestasion
B) seerchlight
C) consciousnhes
D) fundamentalist

Correct Answer : Option D

35 Choose the nearest one word from the alternatives given below for
) ‘ to remove all objectionable matter’



A) expurgate
B) appendix
C) authorise
D) liberal

Correct Answer : Option A

36 Choose the nearest one word from the alternatives given below for
) ‘one who is fond of fighting or war ’

A) brigand
B) Dbellicose
c) altruist
D) robber

Correct Answer : Option B

37. The Sun Temple at Konarak, Odisha, located on the shores of Bay of Bengal, was built in
A) 17th century
B) 18th century
c) 13th century
D) 16th century

Correct Answer : Option C

38. Which one of the following is not included in the list of World Heritage Sites?
A) Ellora Caves
B) Bhimbetka Rock shelters
c) Agra Fort
D) City of Jaisalmer

Correct Answer : Option D

39. The present President of the United Arab Emirates is
A) Sheikh Mohamed bin Zayed Al Nahyan
B) Mohammed bin Rashid Al Maktoum
Cc) Mansour bin Zayed Al Nahyan
D) Saif bin Zayed Al Nahyan

Correct Answer : Option A

40. InIndia, Grey Revolution is primarily related to
A) increased fertilizer production
B) increased spice production
C) increased tea production



D) ncreased coffee production

Correct Answer : Option A

41. The State Manipur shares the international border with
A) Nepal
B) China
c) Bangladesh
D) Myanmar

Correct Answer : Option D

42. The river Kabini is a tributary of the river
A) Krishna
B) Tungabhadra
c) Kaveri
D) Bhima

Correct Answer : Option C

43. Which one the following is not a west flowing river in Kerala?
A) Neyyar
B) Karamana
Cc) Vamanapuram
D) Pambar

Correct Answer : Option D

44. The International Kabaddi Federation is located at
A) Jaipur, India
B) Bhopal, India
c) Chennai, India
D) Kuala Lumpur, Malaysia

Correct Answer : Option A

45. First woman president of UN General assembly was
A) Eugenia Charles
B) Agatha barbara
c) Soong Chingling
D) Vijay Lakshmi Pandit

Correct Answer : Option D



46. Suez Canal links
A) Red Sea and Black Sea
B) Red Sea and Mediterranean Sea
C) Red Sea and Greenland Sea
D) Red Sea and Caspian Sea

Correct Answer : Option B

47. Which country was previously, historically known as Siam?
A) Thailand
B) Philippines
Cc) Vietnam
D) Myanmar

Correct Answer : Option A

48. Which one of the following cities is not in Sri Lanka?

A) Galle

B) Kandy

c) Kandahar
D) Jaffna

Correct Answer : Option C

49. Who was awarded the Nobel Prize in Literature in the year 20247
A) Han Kang
B) Nihon Hidankyo
c) John Hopfield
D) Geoffrey Hinton

Correct Answer : Option A

50. Pentagon serves as the headquarters of the United States of America
A) Department of Human Services
B) Homeland Security
c) Department of Defense
D) Department of Commerce

Correct Answer : Option C

51. H-1Bis a foreign worker visa in the
A) Russia
B) Canada



Cc) Australia
D) United States of America

Correct Answer : Option D

52. The International Court of Justice is the principal judicial organ of the
A) International Labour Organisation
B) United Nations
c) World Trade Organisation
D) World Intellectual Property Organisation

Correct Answer : Option B

53. One of the largest news agencies, UNI was founded in 1961 in India. UNI stands for
A) Unified News of India
B) United News Agency of India
C) United News of India
D) Unified News Agency of India

Correct Answer : Option C

B54. The present President of Ukraine is
A) Leonid Kuchma
B) Viktor Yanukovych
c) Viktor Yushchenko
D) Volodymyr Zelenskyy

Correct Answer : Option D

55. The National Aeronautics and Space Administration is an organisation of
A) Canada
B) Peoples Republic of China
C) United States of America
D) Germany

Correct Answer : Option C

56. Which of the following part of the Sun is visible to Humans?
A) Photosphere
B) Corona
c) Chromosphere
D) Core



Correct Answer : Option A

57. The second largest planet in the solar system, Saturn is a massive ball made of
A) xenon and radon
B) hydrogen and nitrogen
C) helium and neon
D) hydrogen and helium

Correct Answer : Option D

58. Jinnah International Airport is located in
A) Lahore, Pakistan
B) Multan, Pakistan
c) Karachi, Pakistan
D) Peshawar, Pakistan

Correct Answer : Option C

59 Gross Domestic Product is a monetary measure of the total market value of all final goods
and services produced and rendered

A) in a specific period of time by a country

B) infive years by a group of countries

Cc) in one month by a group of countries

D) in a specific period of time by a neighbouring country

Correct Answer : Option A

60. Dr.Vikram Sarabhai was born on 12 August 1919 in
A) Allahabad, Uttar Pradesh
B) Kozhikode, Kerala
Cc) Udaipur, Rajasthan
D) Ahmedabad, Gujarat

Correct Answer : Option D

61 The National Law Institute University, which has been established by an Act of Madhya
Pradesh Legislative Assembly, is located in

A) Bhopal
B) Indore
c) Gwalior
D) Ujjain

Correct Answer : Option A



62. Who is known as father of the United States of America?
A) Theodore Roosevelt
B) Thomas Jefferson
c) John Adams
D) George Washington

Correct Answer : Option D

63. The Indian prime Minister inaugurated the Vizhinjam International Seaport on
A) April 2,2025
B) May 2, 2025
c) April 30, 2025
D) February 2, 2025

Correct Answer : Option B

64. Which one of the following is not true?
A) 805 is not a prime number
B) 23 divides 805
c) 37 divides 805
D) 5,7 and 23 are factors of 805

Correct Answer : Option C

65. The square root of the number 10000000000 is

A) 1000000
B) 100000
c) 10000

D) 10000000
Correct Answer : Option B

66 A shop owner bought an item for Rs.24550. He sold the item for 20% loss. The selling price

was
A) Rs.20640
B) Rs.18640
C) Rs.19640
D) Rs.19540

Correct Answer : Option C

67. Arrange the numbers in the descending order : 3/11, 7/13, 9/19, 6/17



A) 3/11,9/19, 7113, 6/17
B) 7/13,9/19, 6/17, 3/11
c) 3/11,7/13,9/19, 6/17
D) 3/11,6/17,7/13,9/19"

Correct Answer : Option B

68. The sum of the first n numbers, is 1275. The value of n is equal to

A) 50
B) 45
c) 55
D) 60

Correct Answer : Option A

69 The total weight of 18 non-identical items is 1170 kg. One item of weight 82kg is removed
from them. Then, the average weight of remaining items, is

A) 58Kkg
B) 60Kkg
c) 62kg
D) 64kg

Correct Answer : Option D

70 In a triangle ABC, the lengths of sides AB and BC are 18 cm and 40 cm respectively. If the
angle between these two sides is 90 degrees, the area of the triangle is

A) 350 sqg.cm

B) 380sqg.cm
c) 390sqg.cm
D) 360 sqg.cm

Correct Answer : Option D

71. The least common multiple of the numbers 20, 15 and 45 is

A) 180
B) 480
c) 420
D) 560

Correct Answer : Option A

72 A can do a work in 18 days. A and B both together can do the same work in 11 days. Then, in
one day, B alone can do

A) 13/198 part of the work



B) 7/198 part of the work
c) 15/198 part of the work
D) 17/198 part of the work

Correct Answer : Option B

73 Two friends A and B have decided to donate a sum of amount to a government school in the
ratio 2 : 3. If B has donated Rs.120000, then the total amount donated by both A and B is

A) Rs. 180000
B) Rs. 190000
c) Rs. 200000
D) Rs. 220000

Correct Answer : Option C

74 Rs. 50000 is deposited with the compound interest rate of 10% for 2 years. Then the interest

earned is
A) Rs.10200
B) Rs.10500
c) Rs.10600
D) Rs.10100

Correct Answer : Option B

75. If TERROR is coded as SDQQNQ , then REMOVE corresponds to

A) QDLUND
B) QDNLUD
c) QDNULD
D) QDLNUD

Correct Answer : Option D

Select the option that is related to the third in the same way as the second is related to the

76. first.
DEFGH:4,5,6,7,8::3,2,1,8,9:7

A) CBEGI
B) CBAHI
c) CDEFG
D) CDFHG

Correct Answer : Option B

77 From the given alternatives, select the word which cannot be formed using the letters of the
word : CIRCUMSTANCE

A) meant



B) circus
c) stair
D) straight

Correct Answer : Option D

Two statements followed by two conclusions are given. Taking the given statements to be
true even if they seem to be at variance from commonly known facts, read all the
conclusions and then decide which of the given conclusions logically follow from the
statements.

78 Statements :

* 1. Parkinson’s disease has become the fastest growing neurological disorder

2. Prioritizing sleep through consistent schedules enhances overall quality of life
Conclusions:
I. Parkinson’s disease is contagious
II. Proper sleeping helps one for healthy life

A) only conclusion | follows

B) only conclusion Il follows

C) neither conclusion | nor Conclusion Il follows
D) both conclusions | and Il follow

Correct Answer : Option B

79. Part-ll of the Constitution of India deals with
A) the Fundamental Rights
B) Citizenship
c) foreign policy
D) internal security

Correct Answer : Option B

80 The party who is filing the appeal and requesting the higher court to review the decision of
the lower court is called as

A) an Appellee
B) an Appellant
C) acontestant
D) a petitioner
Correct Answer:-Question Cancelled

81 Free legal aid is the provision of free legal services in civil and criminal matters for poor and
marginalized people

A) who cannot afford the services of a lawyer

B) who are illiterates

C) whose annual income is less than Rs.5 lakhs
D) whose annual income is less than Rs. 10 lakhs



Correct Answer : Option A

82. Free legal aid
A) s confined to cases before the Supreme Court only
B) is confined to cases before the High Court only
c) is confined to cases before the subordinate Courts only
D) is provided to the needy from the lowest Court to the Supreme Court of India

Correct Answer : Option D

83. NALSA stands for
A) National Authority for Legal Services and Aid
B) National Law Services Authority
Cc) National Legal Societies and Authority
D) National Legal Services Authority

Correct Answer : Option D

84. The Supreme Court of India has been working on an average of
A) 222 daysin ayear
B) 262 daysinayear
C) 282daysin ayear
D) 292 daysinayear

Correct Answer : Option A

85 The Chief Justice of India and the judges of the Supreme Court are appointed by the
President of India under clause (2) of the

A) Atrticle 108 of the Constitution

B) Atrticle 124 of the Constitution of India
C) Article 84 of the Constitution

D) Atrticle 64 of the Constitution

Correct Answer : Option B

86. Which one of the following is true?
A) A bench of the Supreme Court of India was set up in Mumbai
B) A bench of the Supreme Court of India was set up in Kolkata

The Supreme Court has consistently not agreed for setting up benches of the Supreme
Court outside Delhi

D) bench of the Supreme Court of India was set up in Chennai

C)



Correct Answer : Option C

87 The Department of Justice, Government of India, has introduced a Scheme titled “ Designing
Innovative Solutions for Holistic Access to Justice ” for a period of

A) five years (2021-2026)
B) four years (2024-2028)
c) three years (2022-2025)
D) tenyears (2021-2031)

Correct Answer : Option A

88. The Supreme Commander of the Indian Defence Forces, is
A) Defence Minister of India
B) The President of India
C) Prime Minister of India
D) Chief Justice of India

Correct Answer : Option B

89. The Election to the office of President of India is governed by the provisions contained in
A) Articles 54 to 58 and 62 of the Constitution of India
B) Atrticle 162 of the Constitution of India
C) Articles 50 to 53 of the Constitution of India
D) Articles 64 to 68 of the Constitution of India

Correct Answer : Option A

90. The ballot papers for the election to the President of India should be printed in two colours
in green for use of Members of Parliament and in pink for use by the Members of the State

A) Legislative Assemblies

B) in rgd fgr use of Me_mbers of Parliament and in pink for use by the Members of the State
Legislative Assemblies

c) in rgd fgr use of Me_mbers of Parliament and in yellow for use by the Members of the State
Legislative Assemblies

D) in blue for use of Members of Parliament and in red for use by the Members of the State

Legislative Assemblies

Correct Answer : Option A

91. A statute is a law that has been enacted by
A) board of directors of a company
B) aregistered association
Cc) department of Labour



D)

the legislative body

Correct Answer : Option D

92. Which one of the following is not true?

A)
B)
C)
D)

A minor refers to a person who has not reached the legal age of majority
Minors do not have the same legal rights and responsibilities as an adult
An agreement made by a minor person is a valid legal document
Minors are under the care and supervision of their parents or guardians

Correct Answer : Option C

93. Contingency fee refers to

A)
B)
C)
D)

The claimant’s lawyer gets paid the fee only if the case is won by the claimant

The claimant’s lawyer gets paid the fee even if the case is not won by the claimant
The claimant’s lawyer gets advance payment when the case is filed.

The claimant’s lawyer gets paid the fee only if the case is withdrawn by the claimant

Correct Answer : Option A

94. Coroner refers to a person who investigates the cause of death when

A)
B)
C)
D)

a foreigner has suffered a sudden , violent or suspicious death
a person has suffered a sudden , violent or suspicious death
a convict has suffered a sudden , violent or suspicious death
a minor has suffered a sudden , violent or suspicious death

Correct Answer : Option B

95. The term counterfeit legally refers to

A)
B)
C)
D)

something that is forged or copied with the intention of deceiving

an acknowledgment received for the application submitted in a court
an acknowledgment received for the affidavit filed in a court

the receipt for the payment made in the court

Correct Answer : Option A

96. The term deed legally refers to

A)
B)
C)
D)

a legal document which commits the person signing it to something

a document which commits the person signing it by force

a document which commits the person signing it on a false promise

a document which commits the person signing it without knowing the content

Correct Answer : Option A



97. The term preamble is

A)
B)
C)
D)

an explanation of a proposed law

an annexure to a text book

an executive order issued for implementation
a notification of an Act

Correct Answer : Option A

98. The term probate refers to

A)
B)
C)
D)

authority to deal with father’s estate
authority to deal with a dead person’s estate
authority to deal with mother’s estate
authority to deal with a relative’s estate

Correct Answer : Option B

99. The term proviso refers to

A)
B)
C)
D)

a list of enclosures in a document

a clause in a legal document which qualifies another section of the document
a list of references in a legal document

a list of earlier judgments referred in a court order

Correct Answer : Option B

100. The term quorum means

A)
B)
C)
D)

the number of persons not present in a meeting

the number of persons present in a meeting

the lowest number of qualifying people needed for a meeting to be able to make a decision
the number of members who have walked out of the meeting

Correct Answer : Option C

101. Repeat offender refers to a person

A)
B)
C)
D)

who escapes from police arrest

who supports another convict

who threatens his family members

who continues to commit the same offence

Correct Answer : Option D

102. Which one of the following is correct - The search warrant is issued by

A)
B)

an officer from Home Department to allow his subordinates to search premises
a magistrate or High Court Judge to allow advocates to search premises



C) a magistrate or High Court Judge to allow police officers to search premises
D) a magistrate or High Court Judge to allow the petitioners to search premises

Correct Answer : Option C

103. Eminent Domain refers to
A) donation of a private property to Government
B) donation of a private property to a trust
c) the power of the Government to take private property for public use through condemnation
D) donation of a private property to government to start a school

Correct Answer : Option C

104. Article 368 of the Constitution of India
A) empowers the Parliament to amend the Constitution and procedure thereof
B) deals with the elections
Cc) deals with salary of President of India
D) deals with the National Emergency

Correct Answer : Option A

105. The impeachment of the President of India for violation of the Constitution is discussed in
A) Article 61 of the Constitution of India
B) Atrticle 161 of the Constitution of India
C) Article 16 of the Constitution of India
D) Article 56 of the Constitution of India

Correct Answer : Option A

106. A person holding India’s Tourist Visa can
A) accept employment
B) indulge in business activities
Cc) attending a short term yoga programme
D) long duration medical treatment

Correct Answer : Option C

107. The Madras High Court Bench was inaugurated on 24 July, 2004 at
A) Coimbatore
B) Madurai
c) Tiruchy
D) Salem



Correct Answer : Option B

108. The life of India Rajya Sabha is

A) ©6years
B) Syears
C) 4years

D) permanent House

Correct Answer : Option D

109. Which one of the following is not true?
A) The Vice-President of India shall be a citizen of India
B) The Vice-President of India should have completed 35 years of age
c) The Vice-President of India shall not hold any office of profit
D) The Vice-President of India holds office for a term of six years

Correct Answer : Option D

110. The Specific Relief Act, 1963 extends to
A) the whole of India
B) Jammu and Kashmir only
c) North Eastern States only
D) Whole of India except Jammu and kashmir

Correct Answer : Option A

111. The official languages of the International Court of Justice are
A) English and Spanish
B) English and French
c) English and German
D) English and Russian

Correct Answer : Option B

112. ITLOS stands for The International Tribunal for the Law of the Sea. It is located in
A) Munich, Germany
B) Berlin, Germany
c) Hamburg, Germany
D) Frankfurt, Germany

Correct Answer : Option C



113. Under law, Deportation refers to the forced removal of an individual from a country due to
A) loss of Visa.
B) violating its immigration laws or other legal grounds
Cc) age of the person
D) non-payment of taxes

Correct Answer : Option B

114. ICCPR stands for

A)
B)
C)
D)

International Covenant on Civil and Political Rights
International Council on Civil and Political Rights
International Covenant on Code and Political Rights
International Council on Civil and Personal Rights

Correct Answer : Option A

115 The objective behind setting up of the Central Administrative Tribunal is to provide in-

A)
B)
C)
D)

expensive and speedy relief to

State Governments employees in respect of grievances related to service matters
Central Government employees in respect of grievances related to service matters
Private companies’ employees in respect of grievances related to service matters
All India Service employees only in respect of grievances related to service matters

Correct Answer : Option B

Two statements are given. Choose the correct option based on the statements

116 Statements :

A)
B)
C)
D)

* 1. There shall be a Governor for each State as per Article 152 of the Constitution
2. A Governor of a State in India shall not be a member of the Legislature

Only (1) is true
Only (2) is true
Both (1) and (2) are true
Both (1) and (2) are false

Correct Answer : Option B

Two statements are given. Choose the correct option based on the statements
Statements :

117 1. The Ministers of a State in India shall be appointed by the Chief Minister.

A)
B)
C)

* 2. The total number of Ministers including the Chief Minister, in the Council of Ministers in a
State shall not exceed fifteen percent of the total number of members of the Legislative
Assembly

Only (1) is true
Only (2) is true
Both (1) and (2) are true



D) Both (1)and (2) are false
Correct Answer : Option B

Two statements are given. Choose the correct option based on the statements
Statements :

118. 1. Lok Adalat is one of the alternative dispute redressal mechanisms in India

2. Lok Adalats have been given statutory status under the Legal services Authorities Act,
1987

A) Only (1) is true

B) Only (2)is true

c) Both (1) and (2) are true
D) Both (1)and (2) are false

Correct Answer : Option C

Two statements are given. Choose the correct option based on the statements
Statements :

119. 1. EVM, the Electronic Voting Machine is a device used to electronically record and count
votes cast in elections

2. The Election Commission of India EVM consists of Ballot Unit, Central Unit and VVPAT
A) Only (1)is true
B) Only (2)is true
c) Both (1)and (2) are true
D) Both (1)and (2) are false

Correct Answer : Option A

Two statements are given. Choose the correct option based on the statements
Statements :

120. 1. Kerala High Court is the apex court in the Union Territory of Lakshadweep
2. Kerala High Court was established on November 1, 1956 and the Present Chief Justice is
Justice Nitin Jamdar

A) Only (1) is true
B) Only (2)is true
c) Both(1)and (2) are true
D) Both (1)and (2) are false

Correct Answer : Option B



